
A-53 P. T. O. 

Roll No. ………………….. 

BC–04 

Business Communication 

¼O;kolkf;d lapkj½ 

Bachelor of Commerce (B. Com.-10) 

First Year, Examination, 2017 

Time : 3 Hours   Max. Marks : 70 

Note : This paper is of seventy (70) marks containing 

three (03) sections A, B and C. Learners are 

required to attempt the questions contained in these 

sections according to the detailed instructions given 

therein. 

uksV % ;g iz’u i= lŸkj ¼70½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of fifteen (15) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What do you understand by Business Communica- 

tion ? Discuss its different models. 

O;kolkf;d lapkj ls vkidk D;k vfHkizk; gS \ lapkj ds 

fofHkUu ekWMyksa dk o.kZu dhft,A 

2. What do you mean by group discussion ? Discuss the 

prerequisites and advantages of a group discussion. 

lkewfgd fopkj&foe’kZ ls vkidk D;k vfHkizk; gS \ lkewfgd 

fopkj&foe’kZ dh iwoZ ‘krks± rFkk ykHkksa dk o.kZu dhft,A 

3. What is meant by a formal report ? Describe the 

planning of a formal report. 

vkSipkfjd fjiksVZ ls D;k vfHkizk; gS \ ,d vkSipkfjd fjiksVZ 

dh ;kstuk dk o.kZu dhft,A 

4. “Modern age is the age of information revolution.” 

Elucidate this statement. 

ßvk/kqfud ;qx lwpuk ØkfUr dk ;qx gSAÞ bl dFku dh 

O;k[;k dhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer six (06) questions only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy N% ¼06½ iz’uksa ds mŸkj nsus 

gSaA  

1. What is SWOT analysis ? 

LokWV fo’ys”k.k D;k gS \ 

2. Explain the qualities of a Good Resume. 

,d vPNs vkRelkj laf{kIr fooj.k ds xq.kksa dh O;k[;k 

dhft,A 

3. Write a short note on culture. 

laLd`fr ij ,d laf{kIr fVIi.kh fyf[k,A 

4. What is Video-Conferencing ? 

ohfM;ks&dkWUÝsaflax D;k gS \ 

5. What is Mock Interview ? 

cukoVh@d`f=e lk{kkRdkj D;k gS \ 

6. Explain the elements of Effective listening.  

izHkkoh Jo.krk ds rRoksa dh O;k[;k dhft,A 

7. What is Monologue Presentation ? 

,dy@,dkyki izLrqfr D;k gS \ 

8. Explain semantic barriers. 

‘kCnkFkZ dh ck/kkvksa dh O;k[;k dhft,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 
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uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Write True/False against the following : 

fuEufyf[kr ds lkeus lR;@vlR; fyf[k, % 

1. Drafting is a process. (True/False) 

izk:i.k vkys[ku ,d izfØ;k gSA  ¼lR;@vlR;½ 

2. There are 5 stages of audience analysis. (True/False) 

Jksrk fo’ys”k.k ds 5 pj.k gksrs gSaA  ¼lR;@vlR;½ 

3. Business letters are of 16 types. (True/False) 

O;kolkf;d i= ds 16 vax gksrs gSaA  ¼lR;@vlR;½ 

4. Fiedler‟s Model is related to organization. (True/False) 

fQMyj ekWMy laxBu ls lEcfU/kr gSA ¼lR;@vlR;½ 

5. Formal communication are of 3 types. (True/False) 

vkSipkfjd lEizs”k.k 3 izdkj dk gksrk gSA ¼lR;@vlR;½ 

Choose the correct alternative : 

lgh fodYi pqfu, % 

6. Business Communication is : 

(a) One-way process 

(b) Two-way process 

(c) Three-way process 

(d) None of the above 
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O;kolkf;d lEizs”k.k fuEu esa ls D;k gS \ 

¼v½ ,drjQk@,di{kh; izfØ;k 

¼c½ nksrjQk@f}i{kh; izfØ;k 

¼l½ rhurjQk@f=i{kh; izfØ;k 

¼n½ mi;qZDr esa ls dksbZ ugha 

7. In SWOT analysis, T stands for : 

(a) Technique 

(b) Transfer 

(c) Threats 

(d) None of these 

SWOT fo’ys”k.k esa] T dk D;k vk’k; gS \ 

¼v½ rduhd 

¼c½ LFkkukUrj.k 

¼l½ pqukSfr;k¡ 

¼n½ buesa ls dksbZ ugha 

8. Which of the following is not the style of first draft ? 

(a) Linear Style 

(b) Circular Style 

(c) Horizontal Style  

(d) Vertical Style 

izFke izk:iys[ku dh fuEufyf[kr esa ls dkSu&lh ‘kSyh ugha  

gS \ 

¼v½ js[kh; ‘kSyh 

¼c½ pØh; ‘kSyh 

¼l½ f{kfrth; ‘kSyh 

¼n½ yEcor~ ‘kSyh 
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9. The other name of transaction theory of 

communication is : 

(a) Spiral theory 

(b) Perception theory 

(c) Modern theory 

(d) None of these 

lapkj ds O;ogkfjd fl)kUr dk nwljk uke fuEu esa ls 

dkSu&lk gS \ 

¼v½ /kqekonkj fl)kUr 

¼c½ cks/k{kerk fl)kUr 

¼l½ vk/kqfud fl)kUr 

¼n½ buesa ls dksbZ ugha 

10. Long-report is : 

(a) Formal 

(b) Informal 

(c) Official 

(d) Semi-official 

nh?kZ izfrosnu fuEu esa ls D;k gksrk gS \ 

¼v½ vkSipkfjd 

¼c½ vukSipkfjd 

¼l½ ljdkjh 

¼n½ v)Z&ljdkjh 
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